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1) The magnitude of the slope of an indifference curve is:.
A) called the marginal rate of substitution.

B) equal to the ratio of the total utility of the goods.

C) always equal to the ratio of the prices of the goods.
D) all of the above
E) A and C only

Alvin's preferences for good X and good Y are shown in the diagram below.
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Figure 1
2) Based on Figure 1, it can be inferred that:
A) Alvin does not consider good X as "good."
B) Alvin will never purchase any of good Y.
C) Alvin regards good X and good Y as perfect substitutes.
D) Alvin regards good X and good Y as perfect complements.
E) none of the above

3) Refer to Figure 1. At any consumption bundle with the quantity of good X exceeding the quantity of
good Y (that is, a bundle located below the 45 degree line, like point A), Alvin's marginal rate of
substitution of good X for good Y is ‘

A) diminishing. B) positive. C) constant and positive. D) zero.

4) Refer to Figure 1. 'Which assumption concerning preferences do Alvin's indifference curves violate?
A) Diminishing marginal rates of substitution

B) Transitivity of preferences

C) More is preferred to less

D) Completeness

E) both A and C
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5) Refer to Figure 2.  The diagram above contains cost curves.

A) short run B) intermediate run

C) long run D) both short run and long run.

6) Refer to Figure 2. At output level Q1
A) marginal cost is falling.
B) average total cost is falling.

C) average variable cost is less than average fixed cost.

D) marginal cost is less than average total cost.
E) all of the above

7) Refer to Figure 2. At output level Q2

A) average fixed cost is increasing.

B) average variable cost equals average fixed cost.

C) marginal cost is negative.
D) average total cost is negative.
E) none of the above

8) Refer to Figure 2. At output level Q3

A) average fixed cost reaches its minimum.
B) average total cost reaches its minimum.

C) average variable cost reaches its minimum.
D) marginal cost reaches its minimum.

E) all of the above
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9) Refer to Figure 2 At what level of output are average total cost, average cost, average fixed cost and
marginal cost increasing?

1A) Q2 B) Q3 0 Q4 D) Qs

E) none of the above

Scenario 1:

The demand curve and marginal revenue curve for red herrings are given as follows:
Q=250-5P
MR =50-0.4Q

10) Refer to Scenario 1. What level of output maximizes revenue?
A0 B) 45 C)85 D) 125 E) 245

11) Refer to Scenario 1. The marginal cost of red herrings is given as: MC = 0.6Q.
What is the profit-maximizing level of output?

A0 B) 25 C) 50 D) 60 E) 125

12) Refer to Scenario 1. At the profit-maximizing level of output, demand is

A) completely inelastic. B) inelastic, but not completely inelastic.
C) unit elastic. D) elastic, but not infinitely elastic.
E) infinitely elastic.

13) Refer to Scenario 1.  Compared to a competitive red herring industry, the monopolistic red herring
industry

A) produces more output at a higher price.
B) produces less output at a higher price.
C) produces more output at a lower price.
| D) produces less output at a lower price.

E) not enough information to relate the monopolistic red herring industry to a competitive industry.

14) Refer to Scenario 1.  Suppose that a tax of $5 per unit of output is imposed on red herring producers.
The price of red herring will _ '
A) not change. B) increase by less than $5.

C) increase by $5. D) increase by more than $5.

E) decrease.
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15) Bundling is effective when the demands for the bundled products are and
correlated. ~
A) different; negatively B) different; positively
C) similar; negatively D) similar; positively -

E) identical; perfectly

16) In comparing the Cournot equilibrium with the competitive equilibrium,
A) both profit and output level are higher in Cournot. |

B) both profit and output level are higher in the competitive equilibrium.

C) profit is higher, and output level is lower in the competitive equilibrium.
D) profit is higher, and output level is lower in Cournot.

17) In the Stackelberg model, suppose the first-mover has MR = 15 - Q1, the second firm has reaction
function Q2 = 15 - Q1/2, and production occurs at zero marginal cost. Why doesn't the first-mover
announce that its production is Q1 = 30 in order to exclude the second firm from the market (i.e., Q2 =0
in this case)?

A) In this case, MR is negative and is less than MC, so the ﬁrst-mover would be producing less than the
optimal quantity.

B) In this case, MR is negative and is less than MC, so the first-mover would be producing too much
output. -
C) This is a possible outcome from the Stackelberg duopoly under these conditions.

D) We do not have enough information to determine if this is an optimal outcome for this case.

18) An increase in technology that enhances labor productivity will likely result in:
A) a decrease in labor employment and an increase in the wage rate.

B) an increase in labor employment and an increase in the wage rate.

C) a decrease in labor employment and a decrease in the wage rate.

D) an increase in labor employment and a decrease in the wage rate.

E) employers using less labor and more capital while the wage effect is unknown.

19) Suppose the labor market and all output markets are perfectly competitive. When the labor market
is in equilibrium, the wage rate will:

A) be less than the marginal revenue product of labor.

B) equal the marginal revenue product of labor.

C) be greater than the marginal revenue product of labor.

D) None of the above is necessarily correct.
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20) The contract curve in an Edgeworth Box diagram illustrates
A) the only efficient allocation of goods among individuals.

B) all possible efficient allocations of goods among individuals.
C) all equitable distributions of goods among individuals.

D) the only equitable distribution of goods among individuals.
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